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1) In the first bi-monthly monetary
policy for 2014-15, REI governor
declared the adoption of the new
CPI (combined) as the key measure
of infiation on the recommendations
of which committee ?

1) K.C. Chakravarthy
2) Usha Thorat

3) Nachiket M.Mor
4) Urjit B.Patel

5) Anand Sinha

2) Monetary policy Review
announcement on 1 April 2014 said
that the issue of certificate of
registration of NBFCs will be kept
in abeyance for......
1)3Years 2)4Years 3) 1'Year
4) SYears 5) 10Years

3) The present definition of willful

default was adopted by the RBI on
the recommendation of which of the
following committees

1) KC Chakrabarty
2) C Rangarajan 3) HR Khan
4) Usha Thorat 5) 55 Kohil

4) Doha bank got license to start the
banking operations in ......
1) New Delhi 2) Hyderabad
3) Pune 4) Mumbai 5) Chennai

5) Which two state —owned entities
together bought 10% stake in Indian
Qil Corporation(IOC) during March
20147
1) HPCL and, BECL
2) NTPC and GAIL
3) ONGC and OIL
4) OIL and HPCL
5) HPCL and GAIL

131999 232010 3) 1951
4) 1996  5)2011

7) Maulana Azad sehat Seh

announced by Union Gov

provide
1) Finance 2) 1T educatio
3) Loans
8) Employeeg pravident
Organizatipn (EPFO) ON 24 March
2014 ced to prov
Uni oyt
from..

1)1 Apnl
331 June 201
5) 1 October 2014

4) 1 August 2014

3) Avccording -
) Disinvestment Commission in Ingia C% , whi
was firstly established in .... of 1e following states has attracted

‘mq..

9) Union Agriculture Ministry issued
the detailed guidelines of NMOOP,
NMOOP stands for....

1} Mational Mission on Oilseeds and
Qil Palm
2) Mational Market On Oilseeds and
Qil palm
3) National Mission on Oil and Oil
products
4) National Mission on Oilseeds and
Organic palm
5) None
10) Which state has been providing the
highest average employment for
the past five years under the
Mahatma Gandhi Mational Rural
Employment Guarantes Scheme
(MGNREGS)as announced on
4 April 20147
1) Nagaland 2) Karna
3)Tripuora 4 Mp 3S)Mp

11) How much amount worth 0

evasions was det

(DGCEI)
1) Rs.800

) Earning  3) Equal

Y group Assocham, which

m t investment proposals as on
cember 20137
1) Maharashtra
3) Odisha
5) Andhra Pradesh
14) Badla means..
1) Transfer o s]mres to debentures
and vice-veet
2) deferring either payment for
shares purchased or delivery of
shares sold
3) not honouring the cheque and
demand draft deposited in a ban
4) Instant transfor of money from
one account to other account
5) None

2) Kamataka
4) Gujarat

15} Debits and credits maintained
under broad heads to know the

strength of the business is called

1) Trading account

2) Profit and loss_Account

3) Petty Cash book

fienced peacefully on 7
4 in the two states of ...,

2) Assam and Meghalaya

3) A.P. and Kerala

4) Haryana and Delhi

5) Delhi and Odisha

18)Indian space Research Organization
(ISRO) launched a satellite on 4
April 2014 offers navigational
services, for both civilian and
defense purposes. The name of

satellite is ......

1) IR55-1B 2} IRNSS-1A
J)IRNSE-1C 4) IRNS5-1B
3) IENSS-1D

19} At which rank india stood out of
132 countries on the social
progress index (SPI) published by
social progress imperative the US-
based non-profit Organization on
3 April 2014 7
13102 2)85 3)104 491 51

20) 51 Femina Miss India is ..........

1) Shanthi Swamy from Andhra
Pradesh

2) Prdyuman Vihari from
Maharashtra

3) Gail Nicole Da Silva of Goa

4) Jhataleka Malhotra of Mumbai

5) Koyal Rant of Jaipur

21) Fifth edition of the CC T-20
world cup {men) lifted by ........

1) Sri Lanka 2) India
3) Pakistan 4) South Africa
5) Australia

22) Sixth edition of the ICC T-20
waorld cup (men) to be hosted

1) England 2) South Africa
1 3) West Indies  4) India
5) New Zealand



23) 4™ edition of Icc T-20 Women's
world cup lifted by.......

1) India 2) Pakistan 3) South Africa

4) Australia  5) Sri Lanka

24) R.Gandhi newly appointed as.._..
1) Secretary, MoF,Government of
India
2) Economic Advisor to Prime
Minister of India
3) Deputy gnw:mor REI
4) Chairman of 14" Finance
Commission
5) Deputy Chairman of planning
commission
25) Mane —Lousie coleiro preca
became the president of
1) Switzerland  2) Afghanistan
3) Malta 4) Croatia 5) Uganda
26) The next commonwealth summit in

2015 to be held in Malta. What is

the capital of Malta?

1) Juba 2) Kabul 3) Jakarta

4) Mali 5) Valetta
27) Expand the term CTS.

1) Cheque Tracking System

2) Cheque Transfer system

3) Cheque timing system

4) Cheque Total System

5) Cheque Truncation system

28) Which of the following statements
wrong regarding the cheque
truncation system (CTS)?

1) CTS stops the flow of physical
cheques issued by Drawer

2) Generally truncation lakes place
at the collecting branch,which
sends the electronic image of
the cheques to the paying
branch through the clearing
house.

3) CTS slow down the process of
collection of cheque resulting
the bad service to customers.

4) In this system, electronic i

of the cheque is transmitted &

5) Clearing related frauds and gost
of collection are red

1) Fashion in-designing

2) Uniform in size

3) Uniform security features

4) Same number of cheque

5) Same number of cheque leaves

31} The Uniform security features in

CTS-2010 include......

1) Water Mark

2) Bank logo in invisible ink
3) Vold pantograph

4) Quality paper

5) All of above

32) Who among the following is not

the director of the Central Board
of the Reserve Bank of India?
1) Dr.Raghuram Rajan
2) URINT Patel am
3) P.Chidambara am
4) Dr.Indira Rajaraman
5) Arvind Mayaram

33) On 20 March 2014, RBI has

proposed to setup of a Trade
Receivables and credit Exchange
for financing (TCE) to finance.....
1) Ecporters of Tron
2) Importers of Gold
3) Foreign Exchange dealers
4) Bankers and pawn Brokers
5) Micro,small and Medium

Enterprises(MSMEs)
34) RBI has exented the dz@
exchanging pre-2005bank no

an participate to
m advance ?
JFour 4)Five

ich Of the following private

tor lenders introduced

its own card “Kisan Card’ through
which a farmer can

withdraw up to Rs.1 lakh per day
from ATMs?

1J)HDFC  2) ICICI 3) Axis Bank
4) Federal Bank 5) Indus ind Bank
On 1 April 2014, Asian
Development Bank (ADB)
estimated India’s GDP is poised to
accelerate at what percent in
2014-157

1) 6.5% 2)4.5%

3)59% 4)7.0% 5)55%

39) In View of Public sector Banks

deteriorating assel quality and
rating downgrades, the RBI has
recommended the centre to reduce
its holdings in

these banks.under the Banking
Regulation Actthe government
has to hold at least. .. stake in
public sector banks.

1)26% 2)49% 3) 74%
4)51%  5) 100%

40) Reserve Bank of India (RBI) has

capped the ways and Means
Advances (WMA) limit for the

ons (41- 55) : Read the
carefully and answer
given below it. Certain

Onee upon a time a dishonest king

ad/a man call the Valuer in his court.
'The Valuer set the price which ought
to be paid for horses and elephants

and the other animals. He also set the -

price on jewellery and gold, and things
of that kind. This man was honest and
just, and set the proper price to be
paid to the owners of the goods. The
king, however, was not pleased with
this Valuer, because he was honest.
“If I had another sort of a man as
Valuer, [ might gain more riches,” he
thought.

One day the king saw a stupid,
miserly peasant come into the palace
yard. The king sent for the fellow and
asked him if he would like to be the
Valuer. The peasant said he would like
the position. So the king had him made
Valuer. He sent the honest Valuer away
from the palace.

Then the peasant began to sel the
prices on horses and elephants, upon
gold and jewels. He did not know their
value, so he would say anything he
chose, As the king had made him
Valuer, the people had to sell their
goods for the price he set. By and by a
horse-dealer brought five hundred
horses to the court of this king. The
Valuer came .d said they were worth
a mere measure of rice. So the king
ordered the horse-dealer to be given
the measure of rice, and the horses to
be peat in the palace stables,

The horse-dealer went then tosee
the honest man who had been the
Valuer, and told him what had hap-
pened. “What shall I do 7" asked the
horse-dealer. *1 think you can give a
present to the Valuer which will make
him do and say whal you want him Lo
do and say,” said the man. “Go to him
and give him a fine present, then say
to him: "*You said the horses are worlh
a measure of rice, but now tell what a
measure of rice is worth ! Can you value
that standing in your place by the king?
If he says he can, go with him to the
king, and [ will be there, too.”



The horse-dealer thought this was
a good idea. So he ook a line present
to the Valuer, and said what the other
man had told him to say. The stupid
WValuer took thé present. and said: “Yes,
I can go before the king with you and
tell what a measure of rice is worth. |
can value that now.” "Well, let us go at
once,” said the horse-dealer. So they
went before the king and his ministers
in the palace.
) The horse-dealer bowed down
before the king; and said: "0 King, |
have learned that a measure of rice is
the value of my five hundred horses.
But will the king be pleased to ask the
Valuer what is the value of the mea-
sure of rice 7" The king, not knowing
what had happened, asked, “How now,
Valuer, what are five hundred horses
worth ?7 “A measure of rice, O King!”
said he. "Very good, then! If five hun-
dred horses are worth a measure of
rice, what-is the measure of rice worth?”
*The measure of rice is worth your
whole city,” replied the foolish fellow.
The ministers clapped their
hands, laughing, and saying, "What a
foolish Valuer! How can such a man
hold that office ? We used to think this

great city was beyond price, but this
man says it is worth only a measure of

rice.” Then the king was ashamed, and
drove out the foolish fellow. “I tried to
please the king by setting a low price
on the horses, and now see what has
happened to me ™ said the Valuer, as
he ran away from the laughing erowd.
41. Who did the king appoint as the
new Valuer 7
(1) A minister
(2) A horse merchant
(3) Himself
(4] A stingy peasant
(5) Mone of these
42, Why was the king not happy with
the old Valuer ?
(1] As the Valuer was not good at
" hiswork
(2] A= he had dishonoured the

(3) As the Valuer had been dis-
honest with the king about the
prices that he set for goods

(4) As the king believed that h
was not earning much be
cause of the Valuer's

(5) None of these

43. Which of the followin
be used to descrl

(A} Smart [

(C) Cheat

(1) Only (4)

(3) An honest
of true friendship
- [4) Haste makes waate
(5) No legacy is so rich as hon-
esty
45. Why did the Ministers laugh at
. the new Valuer ?

(1) As he had sold the king's city
at a very low price

[2] As he had displayed his stu-
pidity by quoting a abysmally
low price on the king's city

(3) As he had cheated the horse-
dealer

(4) As he had not calculated the
price of the five hundred
horses correctly

[5) Mone of these

48. What did the new Valuer dowhen
he got the present from the
horse-dealer ?

(1] He accepted the present and
resigned from his post as was
requested by the horse-
dealer

(2) He accepted the present and
agreed to state the worth of

 ameasure of rige In the pres-
ence of the King

{3) He accepted the present and
immedidtely returned the
horse-dealer’s horses .

" {4) He refused 'to accept the
present from the horse-
dealer and asked him to lea
the preniises

(5) None of thése
47, Which of the following can be
said about the old Valyér ?

the horse - dealer go to
reet the old Valuer ?

l1]- iz the new Valuer had set a
very inappropriate price for
his five hundred-horses

[2] As his five hundred horses
/ were stolen from him by the
(3) A.s he was a very goc:d friend

of the old Valuer

{4) As the king had mqucstndhlm
to do so

(5) None of these

B0. What advice did the old Valuer

give to the horse-dealer 7

(1) He asked the horse-dealer to

" inguire with the king about
the worth of a measure of rice

(2) He asked the horse-dealer to
bribe the new Valuer and get
his horses back

(3) He asked the horse-dealer to
forget about his horses and
g0 on with his life

(4] He asked the horse-dealer to '

. publicize his plight and thus
- get his horses back

(5) None of these ;
Directions (51-53) : Chmsethe

WL, BV L WLALUS WELLLL 13 assurore

In meaning to the word/group -
nfwardspﬁntedinholﬂasuacdln

the passage.

51. MERE
(1)much (2, .eehle
(3) costly {4} large
- (5) meagre
B2. BET

() piaced  (2) designed
[3) adjusted (4] decided

(5) trimmed
53. GAIN
1 prﬂﬂt (2] sell
gfuire (4) money
: Choose the
ds whiich is most
&t thie word / group
bold as used in
(2) wrong'
(4) satisfy
(3) bold (4) angry
(5) dunce
Directions ( 36-80) : Rearrange

the following six sentences (A), (B), (C),
(D), (E) and [F) in the proper sequence
to form a meaningful paragraph; then
answer the questions given below
them,

(&) The woodcutter thankfully
hroke off from work and sat
down to eat the delicious
meal that his wife had seni
for him.

(B) He was in a good mood that
particular morning and soon
started singing as he swung
his axe at the log of wood in
front of him.

(C) After he had eaten his meal
and taken rest for a while the

- woodcutter got back to work.

(D) The hours passed and the
sun became hotter than ever
and very soon perspiration
started breaking out on the
woedeutter's hands and face.

(E] Ome hot summer’s morming a
woodcutter was hard at
work, chopping wood into
small pieces, so that he could
sell them in the market.

(F As it neared afterncon, his
wife sent their little son to
him with food for the after-
0.

B86. Which of the following should be
the FOURTH sentence after re-

arrangement 7

mr - 2E
2D - Mc
5B

- B7. Which of the following should be
the FIRST sentence after rear-

rangement 7

(1A 28
i3)1c (4D
B E



B8. Which of the following should be
the SECOND sentence after re-
arrangement 7
1A @B
3 c 4D
3 F

58, Which of the following should bg
the LAST (SIXTH) sentence al*

ter rearrangement ?
(1A 2B
H»c @D
(B E

80. Which of the following should be
the THIRD sentence after rear-

rangement ?

(1A (21 B
3c 4D
51E

. Directions (61 - 65] Which of
the phrases (1 ], 12), (3) and (4) given
below each sentence should replace the
phrase printed inbold in the sentence
lo make it grammatically correct ? If
the sentence is correct as it is given
and no correction is required, mark (5)
as the answer.
61. As it was already afternoon,
. Rohan decided to check out of

the hotel and go home.

(1) for checking out

(2] to checking out

(3) to check outing

(2) to checked out

[3) No correction required
62. Five people which ignored an

evacuation order were trapped in

a mountain region encircled by a

wildfire.

(1) who ignored an

(2) those ignoring an

(3) who ignores a

(4) that ignored a

{5) Mo correction required
63, Since she was the most popular

model on the ramp. she thought

no end to herself..

(1) no ending to herself

(2) no ends of herself

{3} no end of hersell

(4) no end with hersell

[5) Mo correction required

84 The actress says that she is not '

comfortable walk into the ramp
in designer-wear.
(1) to walks on

(2) walking down /\
[3) walking with - .
(4) walks to ™
(5) No correction rﬁqui

65. Not many bank on t [

realism and comedy to zrﬁ_

impression and u. W

does, it makes he

(1) making h .;1# turn

(2) make hedd l.ull'mrtga
(3) making héads tueming

1ds turn 7

(5) No grrection réqiiired
Directiohs (66 = 70) : In each
with four
words prinied in bo e is given,
These are numbered as (1), (2], [3) and
(4). One of these four words printed in
bold may be either wrongly spelt or
inappropriate in the context of the sen-
tence. Find, out the word which is
wrongly spelt or inappropriate, if any.

The number of that word is your an-
swer. IT all the words printed in bold
are correctly spelt and also appropri-
ate in the context of the sentence, mark
(5) i.e. 'All correct’ as your answer.

66. The city's fashion-conscious la-
dies 1)/ came together at a city
hotel to-check out an exibition
(2)/ by various (3)/ designers
{4}/ and labels. All correct (5)

67. The ministry's proposal (1)/ for
an autonomous 2]/ overarching

-authority (3)/ for higher educa-
tion and research was finally ap-
proval. (4)/ All correct (5)

68, Silense 1)/ is to retreat (2)/ in
wordless prayer, gazing (3)/ out
the window of your heart, and go-
‘ing for slow meandering (4)/
walks in & garden. All correct (5)

69. A majority of Avmy tanks continue

to grope (1)/ in the dark.
stricken (2)/ as they are with
an ecute (3)/ case of night blind-
ness. (4]/ All correct (5)
Back home, the éver affable (1)
Eollywood singer shares the g

3

formed (4)/ at the Royal H

London. All correct (5)

Directions (71-80) :
lowing passage there are bl

ich

appropriately. Figd out the apprg
ate word in each cage.

you that if you helpme | wﬂllm sweets
for you from the fair.” The monkeys
. But after the gardener had left,

ey had a (77). How much water were

‘ they to pour for each plant 7 Then one

of them said, "For plants with big roots,
we must pour [78) of water and for
the ones with small roots, we pour only
a little water.” So, the monkeys (78]
out each plant and then pushed it back
again after looking at the root. As a re-
sult, many plapts (80) and died. On
his return, the gardener realized that
he had been very foolish to trust a
bunch of mere monkeys to do his job.

T1. (1) took © [2) was
(3] great (4) handle
(5) mended ] I
72. (1) try (2) told
[3) were [4) bent
(5)learnt
73, (1) main (2] exactly
(3) many (4] because
(5) too -

© 74, (1)call (2) make

(3) stall (4] go
(5] visit
75. (1) forcefully  (2) hardly
. [@usually  (4) costly

. [5) truly

76. (1) ask (2) bring
{3) got {4} throw
(5] create

77. (1) party (2) time
(3) answer [4) doubt
(5) water

78. l1]h-Dd3r (2] many

(2) crushed
(4) grew

irettions (81-95) : What will

fe inplace of the question mark (7)
e following questions 7

81,/ 3.05% of 1200 + 6.4%o0f 800 =7

(1) 36.6 (2) 51.2
(3) 87.8 (4] 14.6
(5) None of these .
B2, 14x45-T4x35="7
(1) 44.5 (2) 35.1
[3) 88.9 4 37.1
[5) None of these
2.3l _o.gl
83, 45 x 33 ?=5 3
1 2
(1) BE @ 93
32 1
. () 63 [4] '?3

(5) None of these
B4, 7995 + 123 +5="7
Co(1) 325 [2) 65
(3 13 4) 70
(5] None of these

" 86, 62.18 + 169.35 + 3046.81 = 7

(1) 3305.34  (2) 3277.44
(3) 3638.34
[4) 3278.44
(5)-None of these
86, J7 +192 =212
(1) 5400 (2) 4
3) 64 (4} 16
(5] None of these

1 1 3 _
BT. EE+5EX1?—?

1 |
(1) 145 (2) 13 3
(3 14 (4) 15
(5) None of these
88. %nf% nf% of 630 = 7

(1) 20 [2) 75
(3) 45 [4) 60
(5) None of these
125%0f200+36% of 350 = ‘}
(1) 451 (2) 126
(3 227 (4) 325
(5] None of these

28x0-14x4

80. g2, /225 + (14



=7 B4

TIJEE;L miﬂﬁ
© 2as T
(5] Mone of these
3 b

21. ?nl'ilﬁi-itl'ﬂ-lﬁl?
(11 541 2} 423
(3 7az 4 433

(3] Mone af these

Bk, TBES - 4128 + 372 = F + 2014
(1) 2095 2} 2008
3 1915 ) 2005
Mone of these

B3, 40% of 240 + T af 250 = 234

(11 45 2 2n
[31 30 i 40
(5] Mone of these

B, TOES + IR T =7
(1) 336.8 2 554
(3 a.91 M 3022
(5] Mone of these )

2120 . [Z)20:21 I5) Nome ol these

{3 45 : 100 (4] 45 : 300 111 What is the average af the fol-

5] None of these lowing numbers ? '
104. Vishal soid an article for Rs 42 24 96 08 60

1,840 and made 15 percent (o) 3& 2] 45

prodlt an the discounted prics be [3 55 (4] 52

bought, If the discount was 20

5] Mone of these
ptrcegn.whumthwﬂﬂml 112. 65% of & number is mare than
(1] Rs. 1,000 [2) Bs. 1 500 “m‘ﬂ.aﬂﬁ"m?:f?' A
3 Rs. 2,400 (1] Gis 2] 69
4 Cannot be determdried A 4B 14 46
(5 Mone of these i5] Mone af these
I.Di.‘l“h:l-t.unl:i'thgm'u.rageu[lh:u 118, 18 werten can compbete a wirk

conssrutive ¢dd numbs=srs and
thres sonseculive even numbers
521, If the highest sven pum-
beris 6, what is the lowest odd

mumber ¥
[1ns 127
e [4] 11

15) None of thege
108, The ratio betwesn Ut mabe and

BE, 4409 & 14% « G5G & 16 =7 female existing dmployees in an

(1] 1212 22

What will he new ratlo bet

Directions [(BE-100]) : Whal male and fermale employess'ql-

ahould come in place of the questhon . ter the recrults join the o

maark [7) fn Che mnnwlng; rumber se- Fatiom
riea 7 . u:a-z 215 45&"‘}4
96. 4 6 18 54 T 32
{1 280 {2) 232 ' -
a1 228 ) 224 (4} Cannat be

5 Mone o these

g7.5 3¢ 272 131 7
(1] 42 2 6521
i 8y ) 785
5l Mone af heae

BA, TGE 182 4B 120 7

i1 2 iz a

a1 4 4 % )

151 None al thess g ng order
@@ 12 168 a2 68 ¢ &

(1] B4 [ 168 17

1 104 [4 128

15} Nome of these 2
00,7 i5 32 &7 7 2

(L} 138 Z) 198 E

3 137 I4) ZE4 ]

15 None af thess .

100 A sum af money fetches Ry

. Ba commpound interesd an the rade
of 4 pe.pa. &t the end
years, What 1s the
|1] Bs, 6,000 .

|5"___
j al the Mrat 1wo of these num-
ot bers 7
(1) 64 1 A%
3 38 4] 44
(3 None of thess
A0 Mikhil spent 48% of his manthly
stipend on food and transpart.
208 of ths remalilng on book and
half of the remalning an ather
expenses. If he i left with Ra.
880 now. how much I8 his

5] Cannct be determined

103, Three-seventh of o numiber |y {1} Rs _ﬁﬂn”
equal to 45 per cent of ancther Ra. 4,800
number. What |5 the respaciive B K
ratlo betaeen the first and (ke (3 P, 3000

second numbers ¥ (4} Ra, 3.600

ETMWH s T 1 3. The ralis
.96 W) 0.41 gbwien the mabs and rﬁT!.ﬂk .
(5] None of these new recruits of 240 s 5 : \ /
, I}_,r"

dl his son four yeass age

a : 6 If the difference be-

the ages af the father and

n is 26 years, what will be the

raiin of thelr present ages 7

|i] 208 (2] E3=5

3] 23:10 4 714

(5] None af thess

118. The digit in the tenih's placs ina
two-digil pumber exceeds the
digit in the unil's place by 3 IF
the sum of Uk digits is 7. what

s definitely the nuimitser 7
(135 2y 52
1) 4%

(3] Cannot be determmined
5] Mone af (hese

Ddrections (118 -120] : Study the
the questions ghaen bekow

foliowing table carefully and answer



No. of Marks obtaloed by Flve Students ln Five Subjects
Examination

 Inam

(Tatal marks ia all the fve subjocts are 20:0)

Subject —+
student 1 Engllah | Mathematies | Histery | Oeography | Scence
A 115 180 120 ) 140
B 170 105 150 136 100
E‘ 102 105 L 13E | 110 B
D 213 108 162 148 120
E 163 125 138 124 115
118, The total marks ebtalned by B in Similarly the positions of the sec-
English and History together was and and the seventh digits are
approcdmarsly whal peroentage interchamged and s an. Which
af marks obtalned by E in En- al the llowing will be the third
glish 7 from the Fight ¢nd after the rear-
(1) 180 (2} 100 rangement 7
(3) 200 (4] 2500 in 23
{5) 175 37 Mo
117. Marks abtalned by C in History - ‘:_LT“‘:_ ‘:J‘TE: 5
wis approximateby what percent- a lewing fihve are
age of marks cblaned by A in altics In a certain way and so form
a by # A group. Which is the ane that
coprapiy ¥ . does mot belang 1o that group 7
[1} 187 121 67
. (1] Hhat (2] Bazilding
133 14133 [3) Tent (4] Mansion
[5} 150 (5] Canve '
118. Who amang them secured high- 128, In & centaln code lan

est total marks in English, His-
Lory and Geography ¥

Y B

@ C ) D

151 E

If the: mdnimam pass perceniag:
s 50 in each subject ta be de-
clared pass In the examination,

how many of them falled in the
examination 7

(1) None

=1

i 4
120, Who amopng them secured high-

=1 fotal percentage of marks 7

itha [2} B

o (4} D

HE

REASONING ABILITY

121. How many such pairs of letters
are thers in the word PREAMBLE|
each of which has as many let-*.
ters between them In the

118,

(b e
4] 3

as in the Enghish alphabet? e
11] M ZOne
3] Twre 141 ™ N 7
5] More tham th |
122, In a certadn cod @b'ﬁ'ﬁ ha_;/','
writien as RVHNENFDS How ls
FRIESTS that chde *
(1) RSRFOSS | (2] %
] \[#) FSRE.
(= M huI——),
1238, Ina code BAHE B wrii-
ten d G is wril-
[ T vy Is DEAN writ-
ten in that sode #
1] %aT2 i
3] ATEE 4] wTa2
|5 Mone of Uhese

194, The positions of e fiest and the
gixth digits in the number
BA106547EE are intenchanged.

e

“when did you come’ 3 wrill
ai ha na Lo pa’ and
there' s written as
How s come’ written 1o

r= ta ha'.

2] 72
[4] 36

\||',5:II.H-E

I 5 row of thirty-seven boys feo-
ing South, s eighth to the right

# al T'wha s [ourteenth L the el

al D. How many boys are there
between D and K in the row 2
4 [2) &
e
4 Drafa nsdequate
|5 Mane of these
130, The pesiticns of low meany dig-
it in - the number 351462087
will remadn unchangesd after the
digits are rearvanged inascend-
ing erder within the number 7
1) Nene (2} Ome
131 Twa 4} Thres
(%] More than three
Directions (131 -138) : Study
answer the questions ghven below
FRIOHOADI%NA4EREM
KZURFOWHSITJIVT

/

131, How many such symbols are
there in the sheve armngement,
each of which s immediately
preceded by a number and m-
meediately ollowed by a better *
1) None 2] e
¥ Twa [l Thiree
15] Mioee than thres
Four of the following five avs
alike In a certaim way Lased on
their pasitlons i the abave ar-
and soform a group

Which |5 the ane that does nok
belong to that group?

- 258 R
4 AalH

132,

m L abiode
whiich

many such consanants ane

re in the above armangement,

ach of which is imamediately

precedsd by & number and not

Irnmediatedy followed by o letber 7

(1] Mo (2 Ome

[3) T 4] Thres

(5} More than three

138, Which af the following is the
tenth to the left of the sixth [rom
the rght end of the above ar-

rangement ¥
1) % 1] 8
MK [ P

15 Mone of These

DMrections [1346-140] & In each
of the gueations hadow are ghven four
elalerments follewed by three conelu-
sdona mumbered 1, B and 01 Yoo have
to ke the gheen statemenis bo be Ere
even If they seem bo be al variance
from commanly knawn facts, Read all
the conchusions and then decide which

ol the given candclusions Iogically (-
loewrs from the ghven statermenis disre-
parding commanly known facts.
136, GBlatements !
Semmse skEes ane Fains.
Zome Tains Are glars,
All aLars are plansis.
All planets arg clauds,
Comchesdoms : )
1. Someclouds are ralns.
1. Some plansts are akics.
[11. Some planets ar= rains
(1] ©ndy [ and 01 follow
(2] Omiby [ and 10 follow
(3] Conehy 11 aimed 10 fiolorae
(4] AL T, O and [F Galloe:
(5} Mome of these
137, Slalements:
Allbirds are goats
Mo gusal is Nower.
Some [laowers are mauntalng
Some mouniing are pets
Conclasbons =
. Some neds are goais,
1L, Ho net is goat.
T Some mounlains are birdg
{ 1) Nome= follows
L (23 Only 1 follws
(3 Oy cither [ oc 11 follows



121 Crinby U follows
151 by 10 folkows
138, Sratemments
Al spgons are bowls.
Al bowls are pans.
All pans are sticks.
All plicks ane Knives.
Concheslons ;
1. Some knives are pans.
Ii. Same slicks are bowls.
Il Some pans A SPoOnE.
(1) Ganly 1 and I follow
121 Ok 11 and L Eollaw
i3 Omby T amedl 101 fodlow
141 AIL L, I and 11 follow
L] r"-fwr. al these .
130 Statemmenls
Al threads are walls,
All lampe are walls.
Some kites are lamps,
Soan: |AIMpS are rays.
Concluslons:
I. Some krtes are Chivsds.
I Somie kites are walks,
1. Some lamps are threacds.
(L) Moo fodlows
(2] Oy 1 lollows
1) Omnly 1 follows
14 Ol 11 fallows
{51 Oy | amed 10 Tollow
140, Statemenis :
Some tables are chairs,
Some chalrs are wheels,
Soome wheals are boards.
Soames boards are chalks.

Conclusions ©

I. Some chalks are wheels,

IL. Some boards arg chalrs.

111, Seamee: wheels are tables,
A1) Mok Tedlows

{21 Omby [ follows

[3] Omndy [ fodlows

[4] Cmdy 111 Follows

18] Qrmby 10 ansd 100 follow

Mrections (141-145] © In =ach

question below s given & group of bel-

ters feliowed by four combinations of

egita feymibals numbered (1), (20, (3]

and [4). You have to find owt which af

resents the group af lette
1.2 "None of thess' as r

Lt

o Fla]m FED

b coxded as the code for the
first lestes.

[} If both the first and the lnst

letters are consonants, both
are to be coded as 6.

141, [TRECGY

{1} G¥ISET (2] THIEDS

14 E2alaT (4] BB
15} None of these

142, MZAETH -
1) 321465 (2] 520483
19 &21466 (4] 320483
15} Mome al ilesss

143, GQEIFM
(1] @B4Gd [Z] S54603
Y anaded 4] &Se0kd
15 None of thes=

134, UFEgTO
(1) Tk457TH [Z] S%45T0
13 %kdSTD (4] Wk 45T
{5 Nome of theses

HE, NEMDY]
(1} 843878 [Z] 543873
13 S434TH (4] 543873

5 Mome ol Uhess

Directions (146 = 150) : Study
the following nformation carefully and -
Angwer the questions given beloey;

A B, C. 0, E Fand G are the
Enly seven members of & family, There
irg three females among Uem. There
krg tweo marTied couples in the family,
Bach of them has a different prod
sion from == Architect, Lawsyer, Do
tar, Teacher, Engineer, Man
Musician, not neceasarily in e

151 Mene of thess
148, What is A's profession 7

(1) Engineer - (9] Musician

13 Englnees or Musician

14) Data inadequate o

15 Mone of these
160, Which of the following pairs is a

maarried couple ?

(1) Ba 2] AE

3 AC

(4 Dmaita Inadequaie

(%) Mome of these |

Direstlons (151-155) : In tha{ol-
lorwing quieaticnss, the symbols §, 8, @,
B and % are used with the fallowing
meandng as iHustrated bedoaw :

‘P @ O means ‘P s not smaller
than @
'PE O means 'F s not greater

im0

P % @' means ‘P la meither
greater than nor equal to G

“P # @' means Fis petther smaller
thain nor equal GG

Py means P b neither smaller
than nor greater than &

Bdow in each of the folkming quess-
ticns assuming the ghven statements
Ltr be true, fnd which of the two coa-
clusions 1 and I given below them is/
are defindtedy troes 7
- Glive answer (1) if saly Conelu-

Hlogy [ 18 e,
Give anawer (2] il cnly Comelu-
slom [1 48

4 0B

153 Statements !
MBE E&aWwW Raw
Comclaslbons :
. M%W
"ILR ¥ E

154, Statements -
EZBT. TwD D#EK
Comclasbons =
1. E%Z
. D¥E

188, Statemenis’
A%F, FoHR RSB
Conclasbons :
1. A%B

1. B&EF
Drections (156 - 160] : In each of

e gueestions ghven below which ong

of il Bhve ansaer figures an the right
should come after Uhe profolem lguees on
the Jeft, IF (he sequence were cantinued ?

Problem Figures

156 \U_"":l +Tu- aaTH| =T ﬂﬁq

—

=i 11| Brul

m @ 3

=R E I CE EEE
S |40 a0 oo

OGH@
[

[y [
anD
.




(3) mailbox i 178, Value-added services' means __
150, |SOUND|PSUEN|NPSUE|BNSLUY UBNEL (4) IP address ! (1) Better value at a premium
(5) Mene of these (2) Costlier services
: 169. Data becomes _____ when itis (3) Additional services
LUBNS|BJNLG | JUNLS [JUNGS|BUNGS presented in a format that people [4) Better value at a discount
can understand and use. [5] At-par services

TSI 4 B A R € 3 I (1) processed (2] graphs 179. To ‘Close a Call' means __

& %D .n|~'.: *|C  C|S j (3] information (1) To end the conversation
160, |8 0 210 Z S 'j ] oy e i presentaticn (2) To put the phone down
o cle —= 5 s—lLLEI (5) None of these {3) To close the doors
0 8 L) 'c' 5[0 sfo 0 170. A set of computer programs that {4) Te clineh the sale
coopoc UJﬂ Co|joocioD¢C 0: ' helps a computer monitor itself. (5) To close the business
LI R . D k¥ 5 and function more efl’iciently is Y50 A is an additional set of
8 Ll 5} a/an ' commrands that the computer dis-
MKBMG APTITUDE/ (1) Windows ¢ o make & aelection
COMPUTER ENOWLEDGE (2) System Software e mai menu
: (3) DBMS ———
161. The instructions that tell a com- (4) Application Software .
puter how to carry out the pro- (%) Moneiof these
ﬁ:;ﬁ;fﬂks areakeTadly 26 171. is the abl'lit;r of a de- Eae
: e vice to “jump” directly to the re- kept about a file in-
(1)-prog quested data.
@ p m:s (1) Sequential access
(3} tmput devices (2) Random access

(4) memory modules
= [5) None of these )
162. RAM can be thought of as the —

— for the computer's proces-

S0r.
(1) factory
[2) operating room
{3) waiting room
(4) planning room -
(5] None of these
183. C, BASIC, COBOL and Java are
examples of ___ languages.
[1) low-level r
. (2) computer =
(3} system programming
{4) high-level
(5) None of these
164. An areaof a computer that tem-

. porarily holds data waiting to be
processed is

(1) CPU (2) Memory
(3) Storage 4] File
[5) None of these

165. A is a microprocessor-
based computing device,
(1] personal computer

{2) mainframe

3) workstation

(4] server {5} None of
1688, You use aln) . Bl

keyboard or mouse, to ifip

formation.

(1) output device
(2} input device
(3) storage devi

[4) processin, i i
[5) Mone of these
167. The te ignates

(4] peripheral device

(5) None of these
168. Anemail account mrludesasmr

age area, often called afn)___

(1) attachment

12) hyperlink

[3) Quick access
(4] All of the above
(5) None of these
172. The is the amount of data th
storage device can move from
storage medium to the computs
per second.
(1) data migration ré
(2) data digitizin
{3) data tran
(4) data acce

\, [] Benches for salesmen to sit

w | [3) Products displayed on a
hese / bench

(4) Set standards -

{5) All of the above )
176. A Call Centre is

(1) a meeting place for DSAs

{2) a Training Centre for DSAs

_ [3) a meeting place for eustom-
ers

(4) Data Centre
(3) a back office set up where cus-
tomer queries are answered

177. The sequence of 4 sales process
- is

(1} Lead generation, Call, Presen-
tation & Sale

(2} Sale, Presentation, lead gen-
eration & Call

(3) Presentation, lead generation,
Sale & Call

(4) Lead Generation, Call, Sale &
Presentation

(5] There is no sequence required

4 (1) and (2] only
) size {5) None of these
provides process and
memory management services
that allow two or more tasks,
jobs, or programs to run simul-
taneously.
{1) Multitasking
(2] Multithreading
(3) Multiprocessing
[4) Multicompuling
(5) Mone of these
183. The ALU performs __ opera-
tions.
(1) arithmetic (2] ASCII
. 13 adgorithm-based
4] logarithm-based
(5) Mone of these
184. Aln) is software that helps
a computer control itself to oper-
ate” efficiently and keep track of
data.
(1) application system
(2) hardware system
(3) software system
(4) operating system
(5) None of these
185, 'Customisation’ means __.
(1) Tailor-made products for each
customer.
(2) Customers selling goods
(3) Tailor-made products for each
stafl

(4] A selling process
(3) None of these

186. A 'Call' in Marketing language
means
(1) Calling on a salesperson
(2) Calling on a customer
(3} Making a phone-call
{4) Telemarketing
(5) None of these

187. Computers manipulate data in
many ways, and this manipula-

. tion is called . .

(1) upgrading (2] processing
(3 batching (4] utilizing
(5] None of these




1€8. A Marketing Survey is required
for 7
(1) deciding marketing strategies
(2) deciding Product strategies
(3) deciding pricing strategies
(4) All of these
[5) None of these
188. The Target Group for Education
Loans is ;
(1) all colleges
(2) all parents
(3) research scholars
[4) meritorious students seeking
higher education
(5) all of these
190. Cross-selling means '
(1) Selling with a cross face
(2) Cross country marketing
(3] Selling other products to ex-
isting customers
(4) Selling to friends
(5) Selling to employees _
191. Market Segmentation is useful for
_ (1) Preferential marketing ‘
(2) Targeting existing clients
(3) Identifying prospects
4) Knowing customers' tastes
() All of the above '
192. The Target Group for Savings
Deposit Accounts is .
(1) Newborn babies
(2) students (3] parents
(4) businessman
(5) all of the above
193. Market Segmentation can be re-
sorted to by means of __
(1) segmenting by age
(2) segmenting by income
(8) segmenting geographically
(4) all of these
(5) None of these
184. The Target Group for a Car Loan
is i
(1) all auto drivers
(2) dll auto dealers
(3) all car owners
(4] any individual needing a car
(2) all of these
195. Market Information means __.

(1) knowledge of industries (

(2) knowledge of households
(3) knowledge of peers

ﬂyﬁﬂi&l‘-u_

(4] farmers’ societies
(5) all of these -
188. The Target Group for Credit -

Cards is ]
(1) existing cardholders

4] knowledge of cus rs
tastes
. [5) All of these -
196, Bancassurance A
(1) Banks promisifig to loans

(2) all graduates

(3) all minors

(4] individuals with taxable income
15) all of these

199, Market Segmentation means ___.
(1) segmenting the salesmen
(2) segmenting the employees
(3) segmenting the customers as
per their needs
(4) segmenting the products
(5) All of these ,
200. A Target Group' means ___.
(1) a group of sellers
(2) a group of buyers
(3] a group of products
(4) a group of persons to whom
sales should be focused
(5) All of these
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4. (1! The meaning of the word
Please (Verb) as used in the pas-
sage is : to make somebody
happy.

The word Annoy (Verb) means :
to make somehody slightly angry;
irritate; bother

Hence, the words Please and an-
noy are antonymous.

55. (2) The meaning of the word Stu-
pid (Adjective) as used in the pas-
sage is : showing a lack of
thought or good judgement; fool-
ish; slow to learn or understand).
Hence, the words stupid and in-

telligent are antonymous.
56. (1) F 57.5 E
58. (2) B §9. (3 C
60. (4) D

61. [3) No correction required

62. (1) ‘who' is the relative Pronoun
_used for person.

(3) No end of herself is correct

idiomatic expression.

. [2) walking down

. (4] makes heads turn

(2) The correct spelling is : exhi-

bition.

67. (4) The appropriate word should

be : approved. Passive Voice

[Simple Past)

The structure of sentence in Pas-

sive Voice (Simple Past) is :

Subject + was/were + V, (Past

Participle).

(1) The correct spelling is : si-

lence.

69, (3) The correct spelling is : acute.

70. (5) All correct

8

gaR

3

71. (1) tock 72.(5) learnt
73. (2) exactly  74. (5) visit
75. (3) usually  76.(2) bring
77. (4) doubt 78.13) lots
79. (4) pulled
80. (1) withered

1200x3.05 BO0x64
8L. B7?="To0 " 100

= 36.60 + 51.20 = 87.80
B2, 4/ ?=14x45-T4x35
=63 -25.9 =37.1
10

22 1
83. (5 ?“?_?=5§

2 1
L ?ab=
#143 3

1

2 1
9= — ef=— =0—
= 7 l4+3 5 3 3

85. (4) ?=62.18 +169.35 + 3046.81
= 3278.34

86. (1) J7 + 361 = 441
= J7 = 441 - 361 = 80
. 7 =80 x B0 = 6400

13 21 10
87. (9)7 = 2r4x'?'
18,15 28,
2 2 2
2 5 3
? = — ¥ —x—=0G0
88. (4) 7 =630 x GX X
200x125 350x36
89. (5) 7= 100 100

=250 + 126 = 376
140 - 56 84

80. A7 = g i 15+196 275

3 2
a1. E2}?=413x¥+515x§

=177 + 246 = 423
92. (1) 7865=-4128+372=7+2014
= 4108 =7 + 2014
s T =4109 - 2014 = 2095
240x45 360x7
9. @50 * 100
= 108 + 3.6 x ? =234
= 36x7=234-108 = 126

=234

. = — 3D
? 3.6

94, (1)?= L *x7=338.8

165

4495 656
B 7= TR x T =]271
(4) The pattern of the number
series is :
Adx1+2=6
Gx2+4=16

l6x3+6=504

54 x 4 + 8 =216 + 8 =[224]
87. (3) The pattern of the number

series is :

Bx8-1=39

39‘3‘?*—-1:272

272 x6-1 = 1631

1631 x 5 -1 = 8155 -1

98. (2] The pattern of the number
series is :
768 + 4 =192
192 + 4 = 48
48 + 4 =12

12 + 4 = [3]

8 &

99. (5) The pattern of the number
series is :
124+22=12+4 =16
16 +4% =16+ 16 =32
32 +6% =32 + 36 = 65

68 +82 =68 + 64 = |132

100, (1) The pattern of the number
series is :
Tu2+«+1l=14+1=15
1I5x2+2=30+2=32
32 x2+3=64+3 =67

67 %2 +4 =134 + 4 = 138

R T
101.(2) C.I1 =P [[“m] '1}

-

= 408 = P (1.0816 -1)

" P= 405 = Rs. 5000
0T posle

102. (3) Speed of the train = 60 kmph

5
= (60 = ﬁ] metre /second

50 -
= ? metre/second

If the length of train be x metre
then

50 x+2x
3 324
50 x 324 _
. X = —9 =
*. Length of platform
= 2 x 180.= 360 metre

3 _ 45 9y
lﬁ&.{l}xx?-yx-m—ﬂ_.--za
X 87 2
Ty 20 3 20
104. (3) Cost price of article

= Bx =50 x 32.4

180

: 100
= Hs. [mx 1340]: Rs. 1600

- Original price of article
[1&00 » 100
- = E-'U
108. (1) Average of three successive
even numbers

= Second even number = 14

J = Rs. 2000

. X+x+2+x+4
3

* dx+B6=21

= x=5

=21-14=7




106. (4] Data are inadequate

107. (1) 45x + 24y = 675
Dividing both sides by 3, we have
15x + By = 225 |

@2-0286; ==06

3-
5
8 -0as3
T

108.

109.
X+x+2+x+d+x+B+x+8
5

84
.[x+3}x-ﬁ
A 5x+20 _(x+8)x21

B 25

= (x+4) x25=(x+8 21
= 26x+ 100 = 21x + 168
= 4x= 168 - 100 = 68
s ox=17
L 2x+2=2%x17T+2=36

(5) Let Nikhil's monthly stipend
= Rs. 100

100 - 45 = 55
Savings alter expenditure on
books.

110.

56x 20
= - = Ra. 44
T TR
Last savings = 44 - 22
= Rs, 22 -

-+ Rs. 22 =Rs. 100

100
R&_Bﬂﬂﬁﬁxsm=ﬂs.4ﬂm

111. (5) Required average

42 + 34 + 56 + 58 + 60
.‘. . 5
_250

5

112. (4) If the number be x then
(65 — 361% of x = 58
x %29
100
58x100 - 200
29 .
) 200 % 23
_ 100
(1). 18 x 12 women = 12 x 9 men
. 2 women = 1 men
s Bmen + 8 women = 12 men
MD, =MD,
= 12x9=12xD,
= D, =9 Days

= =58

S X=

s 23% of 200 = =48

113.

114. (1) 19x - Gx = 26
- 131.——26:."")::2

father and son
=19x+4:6x+4
=42:16=21:8 .
118, (2) Number =10 [x + 3} + x
X+3A+x=T7
= Ix=4=x=2
o Number = 10 (2 + 3) +2 =52
1186. (3) Required percentage
170 +150
=7 163
- Approximate answer = 200
* 117. (5) Required percentage

= la—leﬂu = 150
a0

#1000 = 196

History and Geography :
B= 170 + 150 + 135 = 455
E= 163 + 136 + 124 = 423

D failed in the exam.

140 = 645

100 = 660

90 = 542

- 120 = 634
+ . 115 =663
121. (3)

16 18 5§ 1 132

122. (1)

. Ratio of the present ages of

118. (2) Marks obtzined in English,

119. (4) Three students i.e. A, C and
120, (5) Marks obtained in all subjects
j&=115+lﬂ-ﬂ+ 120 + 90 +
B = 170 + 105 + 150 + 135 +
C = 102 + 108 + 132 + 110 +
‘D= 98 + 106 + 162 + 148 +

"E= 163+ 125 + 136 + 124 +

A2 5 -
‘P R E-A M B L E

t '

123. 21 B A K E Bl ND
g N Y R P R A
3@# 7 34 2%

Therefore, DE A N
- Lldd
o 7 @ 2

124 (1) According to question,

94?2553%{:5

Srd frdm the right

125. (5) Except Cave, all others are
built by human beings [or living,
126. (4)

when .cii:i vuu : come—| ha nay m pa

f_f-nfl }'nu g0 there —s5a re n l'l.aJ-
The code for ‘come’ is either ‘na’
or'pa’.
127. (4) Meaningful Words
= ROPE, PORE, REPO
128, (4] The number 36 is a perfect

square.

129, (5)
. .
[ 1.
G ----IHIIIEIIIII.HI T} --- %
H
‘There are five bays between D
and F.

130. (3)
35 1[4 6 2 987

125|J5'3?1J9

131. (1) [ Number [ Symbol | Letter |

There is no such combination.

182, (5) D—2—%———0
E—Lr 5—-4—1 R
T.——> ‘u"-——>3
A—2 11— 41

-E;z+%-*—4-+$

133. (3) According  to question, the

new sequence would be :

T‘BBHADMEM[?DRPEWEHTJ\F?

12th from the lelt end
134. (3)
|Numherl Consonant ﬁ:ette_f;]
Such combinations are :

oHe | [5W
135. (2) 10th to the left of the 6th from
the right means 16th from the
rlghl cnd le., 5.




(136-140):

(0 All stars are planets - Universal

Affirmative (A-type).

{4} Some skies are rains — Particu-
lar Affirmative (I-typel.

(i) No goat is flower — i.lnlw:rxai
Negative [E-type].

[iv) Some goats are not flowers — Par-
ticular Negative (O-type).

136, (2) Some rains are stars.

All stars are planets.

1 + A = I-type of Conclusion
- “Some rains are planets.”
Conclusion 11l is Converse of it

All stars are planets.

Al planets are clouds.

A + A= A-type of Conclusion
=All stars are clouds.”

Some ralns are planets.

All planets are clouds.

. I+ A= I-type of Conclusion
“Some rains are clouds.”
Conclusion | is Converse of | .

137. (3) All birds are goais.

No goat is lower.

A+ E = E-type of Conclusion
“No bird is flower.” i
Conclusions I and 11 form Com-
plementary Pair. 'I".Ew_-nveﬁ:n:vn:~ either
1 or 1l follows.

138, [4) All spoons are bowls,

All bowls are pans.
A + A= A-type of Conclusion

- “All spfoons are pans.”
Conclusion Il is Converse of it

All howls are pans.

All pans are sticks.
A+ A= A-type of Conclusion

“All bowls are slicks.”
Conclusion 11 18 Converse of L.

All pans are sticks.

All sticks are knives.

. A + A= A-type of Conclusion
“All pans are knives.”
Conclusion 1 is Converse of it.

138. (3) Some kil&s are lamps.

All lamps are walls.
I+ A = I-type of Conclusion
“Some kites are walls."
This Is Conclusion IL.

Some rays are lamps,

All lamps are walls,

I + A = l-type of Conclusion
. "Some rays are walls.”
140. (1) All the four Premises are Par-
ticular Affirmative (I-type). No

Conclusion follows from the two
Particular Premises.
14L..(1)1 DZ Qg G Y
O T A
6 # 2 5 @ 7 -
142. (31 M Z A E 1l K
R T A A
5§ 2 1 4 6 &
Condition (i) is applicable.
143. 151 G ? EI F M
444
-5‘ 5 4 6 % &
Condition (ifi) is applicable.
144.(2) U F E ? Y O
N } 4
%] *_4 b 7 &
Condition (if) is applicable.
l-iﬁl,-l}N E MDY I
Y Y [ R I
6 4 3 # 7T 8
 Condition (i) is applicable.
(146 - 150) :
Member| Sex | Profession | Relationship
A Male | Engineer | Brother of
G and D.
B Male | bawyer | Husband
1 af F.
C Female) Doctor | Wile of E.
D Female] Teacher | Sister of
G oand A
E Male | Musician | Husixand
N of C.
F Female] Manager | Wife of B.
—&-_—-h"ifTi':! Arcniect | Brother of
] Dand A
One married Couple is BF. Another

married couple must be CE,

146, (1) The combination E - Mﬂ]e -
Musician is correct.

147. (3 B and E are husbands of the
two martied couples,

| 148. (2) E is a musician,

148, (1) Aisan engineer.
150. (5) Married couples are BF and
CE.

(151 - 155) :

Y=<

T
=2 >

S=%
ey

15l. (1l H@M=HzM
MSD=M<D
DWN=D<N :

Therefore, HzM=D <N
I. N#M =N=>M:True
I, N©® H=N=H : Not True
152. (D) R#T=R>T 3
CT@J=2Tzd
Therefore, R>T2J =B
Conclusions
I. BST =B<T: True
N J%R=J <R :True
183. (4) MSK=Mx<K
CK#EW=K>W
RE@EW=R:>W :
Therefore, M s K>W <R
Conclusions
I. M%W =M<W: Nnt"l'hu!
II. R # K = R>K:NetTrue

1. 2 ZOT=Z=T .
TH%D=T<D
D#K=D>K

Therefore, Z=T< D> K
. K% Z =K <Z:Not True
1. D#¥Z=D3>>Z:Trae

155. 5 A% F=A<F
FER=F=R
RSB=R<B

Therefore, A<F=R<B
Conclusions _

I. A%B =A<B:True

iIl. B@F=8B2F:True

156. (1) From Problem Figure (1) to (2)

the two designs from left rotate
through 90° anticlockwise and
the remaining two designs rotate
through 90° clockwise. From
Problem Figure (2) to (3) the
rightmost design moves to the lefi
mosi position. From Problem
Figure [3) to (4) the left and the
right designs rotate through 90°
clockwise and the middle designs
rotate through 90° anticlockwise.
From Problem Figure (4) to (5) the
rightmost design moves to the left
most position. Therefore, from
Problem Figure (5) to Answer
Figure the two designs from the
left would rotate through 90°
clockwise and the remaining two
designs would rofate through 90°
anticlockwise.




157. (4) The following changes occur
in the subsequent figures :

N:—h‘—/}-_ i
e

(1) to (2) 2) to [3)
(3] to 4) (4) to (5)
(5) to (6]

168. (2) The following changes occur.
in the stibsequent figures :
e 3 Py S—
) H -

— [t 3
[ E———7>
(1) to (2) (2) to (3)
(3) to (4] (4) to [5)
(5) to (B)
159, (4) The following changes ocour
in the subsequent figures :
N N y
L L ] LI Lo ] L B d B d B ]
(1) to (2) (2) to (3)
(3) to (4)

(4) to (5)
151 to (6] ;

160. (3) The following changes occur
in the subsequent figures :

|
— - .

=]

»—
(2) to (3)

(1) to (2)
(3) to (4) (4) to (B)
(5) to (6)
161. (1) programs
162. (2) operating room
163, (4) high-level
164. (2) Memory
165. (1) personal computer
1688, (2) Input device
167. (4) peripheral device
168. (3) mailbax
169. (3) information
170. (2) System Software
171. (2) Random access
172. (3) data transfer rate
173. (2) compiler
174. (1) kilobyte
1785. (4) Set standards
176. (5) a back office set up where
.. customer queries are answered
177. (1) Lead generation, Call, Pre-
sentation & Sale

178. (3) Additional services

179. (4) To clinch the sale

180. (2) submenu

181. (4] size

182. (1) Multitasking

183. (1) arithmetic

184. (4) operating system

185. (1) Tailor-made products for

. each customer '

186. (2) Calling on a customer

187. (1) upgrading

188. (4) All of these

189. (5) All of these

190. (3) Selling other products to ex-
isting customers

191. (5) All of the above .

192. (5] all of the above

193. (4] all of these

194. (4] any individual need:ngacar

195. (5) All of these

196. (3) Banks selling insurance prod-

1 ucts 4 '

197. (9) all of these

198, (4) individuals with taxable in-
come

199. (3) segmenting the custcrmersas
per their needs

'200. (4) a group of persons to whcrm

sales should be focused
000




